Doppel-KO-System (10 Teilnehmer =18 Spiele )
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Teilnehmer

6 Gewinnsitze

Nerius
Stellwagen
Janka
Schafer
Pinnow
Baumgart
Reincke
Rugenstein
Hampicke
Brandes
bishe
Nerius 2 6 Janka
Pinnow 5 4 Reincke
Hampicke Freilos
nicht besetz
nicht besetz
Brandes Freilos
Rugenstein 4 3 Baumgart
Schifer 5 3 Stellwagen
Janka Freilos
Hampicke 0 6 Pinnow
Rugenstein 1 6 Brandes
Schifer Freilos
Janka 6 4 Pinnow
Brandes 3 5 Schafer
Janka 6 3 Schafer
|Janka 7 6 Pinnow | Endspiel
Looser-Runde
Nerius 3 6 Reincke
nicht besetz
nicht besetz
Baumgart 2 6 Stellwagen
Reincke Freilos
Hampicke Freilos
Rugenstein Freilos
Stellwagen Freilos
Reincke 6 0 Hampicke
Rugenstein 3 4 Stellwagen
Reincke 3 6 Pinnow
Stellwagen 6 2 Brandes
Pinnow 6 3 Stellwagen
Schafer 0 1 Pinnow

WFRERNAT XLS; Doppel-KO



